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Area of Disc and Sectors

1. A circular medium pizza includes 6 equal slices. What is the area of each slice of pizza,

if the diameter is 15cm? Aw ‘r" -~ —q
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circle with a radius of 6m is inscribed in a square. Find the area of the shaded region.
ANaCl*-afCO\O =144 - \1301; L

1 X/ mrz r—*—-j
194 = (11 x (6f) = 0% +-|a-1

4. Calculate the radius of a disc, given its sector a:fea is 6cm with a central angle of 30°.
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5. Calculate the ccntt‘al angle of a sector, given its sector area js 31m? and its radius iz 42m 0\
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< 6. Calculate the circumference of the circle whose sector area is 352.216em? and sector angle m
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